



Vendor Ranking

Call Order: 008

Page 1 of 1

01250918 Letting:

September 18, 2025 11:00

Contract:

E1Y02-R0

District:

District 1

Counties: DIST/ST-WIDE, LEE

Fed Aid No: N/A

Project(s): 43272927228 (*)

Contract Time: 365 CALENDAR DAYS

Contract Desc: Longline Striping, Remove & Replace

AM

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MCSHEA CONTRACTING, LLC	Responsive	Winning bid	\$647,699.60	100.00%
2	ROADS RENEW LLC	Responsive	Non-Winning Bid	\$756,900.00	116.86%
3	TRP CONSTRUCTION GROUP, LLC	Responsive	Non-Winning Bid	\$848,950.00	131.07%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 3

Letting: 01250918 September 18, 2025 **Call Order:** 008 **Contract:** E1Y02-R0

District: District 1 Counties: DIST/ST-WIDE, LEE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272927228 (*)

Contract Descr: Longline Striping, Remove & Replace

The work under this Contract consists of Longline Striping & Remove and Replace Raised Pavement Markers.

Line No / Item ID Alternat	e Quantity Units	(1) MCSHEA CONTRACTING, LLC		(2) ROADS RENEW LLC		(3) TRP CONSTRUCTION GROUP, LLC	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	150.000 GM	500.00000	75,000.00	1,550.00000	232,500.00	1,200.00000	180,000.00
0010 0710 11131 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 10-30 0 SKIP, 6" WIDE		95.00000	14,250.00	525.00000	78,750.00	650.00000	97,500.00
0015 0710 11190 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ISLAND NOSE	3,000.000 SF	7.68000	23,040.00	1.50000	4,500.00	10.00000	30,000.00
0020 0710 11201 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"	150.000 GM	500.00000	75,000.00	1,550.00000	232,500.00	1,200.00000	180,000.00
0025 0710 11231 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"	15.000 GM	95.00000	1,425.00	525.00000	7,875.00	650.00000	9,750.00
0030 0710 11290 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, ISLAND NO	7,220.000 SF SE	7.68000	55,449.60	1.50000	10,830.00	10.00000	72,200.00
0035 0710 11331 PAINTED PAVEMENT MARKINGS, STANDARD,BLACK, SKIP, 6"	120.000 GM	525.00000	63,000.00	525.00000	63,000.00	650.00000	78,000.00



09/18/2025

Tabulation of Bids

Page 2 of 3

Letting: 01250918	September 18,	2025 Ca	II Order: 008		Contract:	E1Y02-R0	
Line No / Item ID Alternate Quantity Item Description Units		(1) MCSHEA CONTRACTING, LLC		(2) ROADS RENEW LLC		(3) TRP CONSTRUCTION GROUP, LLC	
() indicates item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (PAVEMENT STRIPING (LARGE MACHINE) (LM							
0040 E706 1 42 REFLECTIVE PAVEMENT MARKER(REMOVE AND REPLACE)(CLASS B)	40,300.000 EA	8.45000	340,535.00	3.15000	126,945.00	5.00000	201,500.00
0001 PAVEMENT STRIPIN (LARGE MACHINE) (LI			\$647,699.60 [°]		\$756,900.00 [°]		\$848,950.00
Contrac	ct Grand Totals:		\$647,699.60		\$756,900.00		848,950.00



09/18/2025

Tabulation of Bids

Page 3 of 3

Letting: 01250918 September 18, 2025 **Call Order:** 008 **Contract:** E1Y02-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.